Vista da A

61
<—47il¢
- 26
|
080187001 —
1 @—G [z viti E.

~—042.5—

Ng u M8x50
P ) N 300171504
' sp.6

2 Distanzialt
820—988,5x18

2 Dadi M8

Vite a brugola
M6x14

8 Dadtr M6
3 Rondelle -~ /5 60

3 Grower 55— Vite T.E.
M8x35

ART 5565  Silenziatore HAND MADE "ZX°  per

PIACCIO ZIP KAT (00 — air cooled)
PIACCIO FLY 50 (05 — air cooled)
PIACCIO ZIP 50 (27) ('09)

CILERA ICE 50 KAT (07)




